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Problem 1 Diodes (22 points)

In the circuit below, assume both diodes are ideal. Find | and V1.
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Problem 1 EXTRA WORKSPACE



Problem 2 NMOS FETs (25 points)

In the circuit below, which elements are absorbing and which elements are releasing
power? Specify how much power an element is absorbing or releasing. Use VTO =1V
and KP =50 uA/V? for the NMOS.
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Problem 2 EXTRA WORKSPACE



PROBLEM 3 Cascaded Opamps (25 points)

In the circuit below, find V1 and V2. DO NOT IGNORE THE EFFECTS OF THE
OPAMP RAIL VOLTAGES!
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PROBLEM 4 Nonlinear Circuit Analysis (25 points)

Suppose you are given the following circuit:
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The i-v relationship of the non-linear circuidt is shown below:
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(Mote: the parabolic portion 1s not drawn to scale, but the equations are valid.)

a.) Sketch the dynamic route, label all equilibrium points, and describe them as stable or unstable.

b.) Given that v_(0) =4V and 1.(0) = —4mA  how long (in milliseconds) does the current remamn constant?
If the current is never constant, then explain why.

c.) Using the same imitial conditions, how long (i mulliseconds) does 1t take for the voltage to reach 0.01V7

T1 (for constant current) =

T2 (for voltage to reach 0.01 V) =




Problem 4 EXTRA WORKSPACE



EVEN MORE EXTRA WORKSPACE
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